3 FBRAFREAMXAR
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5= 20 1 PR A () IR S 4 1) (B2 :mg/L)

AR il
e 203
MK %, ezt
HO 4%
— 001400
() i
e B
L Z ok
o RT.12.2
AKIR(C) LA
AU (mS/m) 2.0
- 6.5
o < 0,005
TRITR A, iz
e 211
MK, BT
MO o7
— 000100
T (m) 8.5
L B
TP TERK
ey RT. 12,17
AKIE(C) 0
AU (mS/m) 8.1
g 76
o < 0.005
- 0.15
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5= 20 1 PR A () | IR S 43-2)

(BAL i mg/L)

i T4 Bl | Ewlm | |l | Bld | @lm | Al
i I o — 210 210 210 210 210 210
Hi X 4, FE)IERET | AB)IgERT | mJIERAT | rreaRT | ARIET | AR
H X 0330 0330 0330 0380 0430 0430
P 000300 | 000500 | 000600 | 001400 | 000300 | 000400
R (m) 80 110 40 141 51 80
I e e FE FE FEH FEH
FiR 5y —WERA | —MREKA | TERK | TERK | —BEKA | —BHA
BOKAEA H R2.1.16 | R2.1.16 | R2.3.5 | R2.3.5 | R2.1.10 | R2.3.5
KIR(C) 141 14.4 14.4 14.4 14.8 14.5
B RASEF (mS/m) 241 25.5 26.4 25.1 22.7 26. 1
pH 7.9 7.1 6.5 6.8 6.5 6.7
SYEESD, <0.002 [<0.002 [<0.002 [<0.002 |<0.002 |<O0.002
U (b5 35 <0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 |< 0.0002
PR <0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 |< 0.0002
l2-vranTs <0.0004 |< 0.0004 |< 0.0004 |<0.0004 |<0.0004 |< 0.0004
RESZE e 2 <0.002 [<0.002 [<0.002 [<0.002 |<0.002 |<O0.002
BESY Sty <0.004 |<0.004 |<0.004 [<0.004 |<0.004 |<0.004
L11-Nzaaxsy <0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 |< 0.0005
L1,2-N7aaxsy <0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
NEEEEE <0.001 [<0.001 [<0.001 [<0.001 |<0.001 |<0.001
o nnTET L 0.0005 | 0.0010 | 0.0015 | 0.0008 | 0.0028 |< 0.0005
TR F 4, Blm | elm | Adm | Blm | elm | Adm
T AT R — 210 210 210 210 210 210
e GEAET | BONET | GRIE | TRIET | FITEE | mEREE
X5 0540 0540 0540 0540 0660 0670
HAES 000500 000600 000700 000900 000100 000100
H R (m) 100 121 A~BH 50 100 60
eI R RE HEH HEH HEH TR
TRy —RRERA | AGEKIE | —BRERAD | —AREKMm | —RRERA | —BREKA
K] A R2.1.15 | R2.1.15 | R2.1.156 | R2.1.9 | R2.1.16 | R2.1.15
KIR(CC) 1.9 12.7 13.0 14.3 13.5 9.5
BB E (mS/m) 20.0 191 19.4 18.0 23.5 18.9
pH 6.7 6.8 6.5 6.4 6.8 6.5
ZA=1=5 % < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
iR ierES < 0.0002 1< 0.0002 |< 0.0002 (< 0.0002 |<0.0002 [< 0.0002
Va=1=t= s 0 < 0.0002 1< 0.0002 |< 0.0002 (< 0.0002 |<0.0002 [< 0.0002
R VECEY <0.0004__|< 0.0004 |< 0.0004 < 0.0004 |< 0.0004 |< 0.0004
1 U /anaTLy <0.002__|<0.002 [<0.002 [<0.002 |<0.002 |<0.002
e <0.004 _|<0.004 [<0.004 [<0.004 |<0.004 [<0.004
LLI-NZaax7y <0.0005_|< 0.0005_|< 0.0005__[< 0.0005 |< 0.0005 |< 0.0005
LL2 N Zaa=sy < 0.0006__|< 0.0006 _|< 0.0006 < 0.0006__|< 0.0006 _|< 0.0006
SEEEEET <0.001 __|<0.001 _[<0.001 _[<0.001 |<0.001 _|<0.001
ASZEEES <0.0005_|< 0.0005_]< 0.0005_ < 0.0005 | 0.0014 |< 0.0005
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